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I.  DNA





STRUCTURE


DNA = ____________________


NUCLEOTIDES = _________________





HISTORY





REPLICATION


____ PHASE IN 


________________








Deoxyribose


A ______  C


Sugar








group





4 _________


Bases








(2 rings)


A = ___________


G = ___________





Structure of DNA


Uprights = 					      				





T  –  C  –  G  –  A  –  A  –  C  -  T








1949 - ___________


Base Pairing:


C with _____


A with _____ 





1952- ___________


-twisted, helical struct.


-_____strands w/


_________ in center





1953 - ___________


Double __________


w/ backbones held together w/ _____


bonds





1.  ____________


Unwinds and unzips/ breaks ___ bonds between N bases








2.  


Binds free nucleotides to DNA template








3._____________ of ___ new strands of DNA ident. to original











(1 ring)


T = ___________


C = ___________





Are Hydrogen bonds weak or strong?





Each DNA strand created is ½ _______ DNA and ½ ______ DNA.  We call this ________________________________.











